> A
A 2 0l & A &2 & Al A
20229 &= =0lat LBt &3
SN 2B
M Hols2el
Cel: MEHIsHel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 28,348,008 24,179,751 4,168,257
= 6,725,348
< 2,952,757
Al 18,669,903
HIlI=2el 10,479,332 9,727,041 752,291
= 1,207,038
< 514,737
Al 8,757,557
MetH I 2Hel 8,218,875 7,364,340 854,535
= 286,570
= 439,913
Al 7,492,392
MYDISEH2S 271,212 236,310 34,902
201 et 218,276 215,976 2,300
01 At 22l 26,420 24,120 2,300
OB =+=EH| 20,900
o FAXA MY II=017] 25 F&
1,875,000% 1,875
o WEEBAIN XY S UM 242
1,650,000 1,650
o MYD|l SYEI| otLHE M
223,600 2574 5,590
od EES ML ¥ HUHE MH
1,210,000 1,210
o M) EHEI MY 22 2 MH
56,000& *300H 1,680
o MgJ 2YEI HE AEH MH
1,000& *9300H 930
o It , A2Mg )] 2eltiE E22 MH
1,910,000 1,910
o MgJ| AHAESE Y SAESF HI=S ER
ZZ BHOHA EXIE WA 10,0003 #4704 2 470
o SAESF HIIS LMAN & 5,585
=E 55,870& =400H 2,235
-t =2 1,430,000& 1,430
-82 960,000& 960
- AEA 960,000& 960
0248+ 560
o SA=SF HII=2 &I 23 =€
70,0003 +x8H 560
O=&tl 4,960
o =EUHEZ2S =& 930,000& 930
o Ml SEHM FRFA 930,000& 930
o FAXA MYII=017] 25 F&
190,000& 190
o HHEHAMAHZE FRFZ 930,000& 930
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N = 0l & At & Ml A

2022 = 20l A L BESH B E
2M: 33
mu: Hol2ee
Ce: MEHI2Xel (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
0 SAZF HIsxH =X
1,460,0002 1,460
0 SNEE HIIE OjATL P2EX
520,000& 520
02 E2=2=2%H| 191,856 191,856 0
OZ2Z222L A 9,690,000& 9,690
OAl & & H KX Y| 1,806,000 1,806
OXgrdet] 180,360,000 180,360
202 04d| 3,236 3,634 A\ 398
01 2L I 3,236 3,634 A\ 398
OMYD| SEH gFFA 3,236,000 3,236
206 M 2 Hl 49,700 16,700 33,000
01 =4l 49,700 16,700 33,000
OSAEF HIIE2S2 EJZA 9,700
0 £NBE TY(L2FY, YA S)
1,000,000 1,000
o HEE= HE(EE) 5,700
- 52| 40& *30, 0004 1,200
- 102l & 50«30, 0004 1,500
- 602l & 50& *30, 0004 1,500
- 12021 & 502 *30, 0004 1,500
o HAIXNRAE SAZ 8880 #¢
60,000 *504 3,000
OMEE22l=HU 820 40,000,000 40,000
MEFMY I LE=HK ALY 2,936,040 2,731,799 204,241
101 e1214| 60,425 112,425 A 52,000
04 J|12ZtHIZ22NEES 60,425 112,425 A 52,000
O3 ZAHEE 2N 34,425
oJleEaz 69,7603 x 1H x222 x12& 18,417
o0 (L2212 5) ¢ 4282
11,696,000 11,696
o El&32 4,311,870 4,312
OEEHED| CCTV &2 24 26,000,000 x1H 26,000
201 et | 264,232 253,220 11,012
01 AP 2t 2] d| 34,082 23,070 11,012
OBt 2Y| 21,742
0o AN HAL2FX 6,372,000 6,372
0 EAXY ZAIE Y A =2
1,300,000 1,300
0o EYHEIEX EEE2 MHE 5,100,000& 5,100
o AE B s MYD| S2ts FoEE
470& x1,0000H4 470




S 23HD
M. HOIS2el
el MEHIISHR (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o HASI &KX 2,000& 50074 1,000
o HEHIIZ & AEIH M
3502 %10, 0000H 3,500
o BZ0ISE /Y Ot 2,000,000 2,000
o EHE0ISA 222 K2 EBIt
2,000,000 2,000
OZ2 | 11,240
o dA PRFX 2,790,000 2,790
o XHIIE £HM2 HR=X
1,300,000& 1,300
o MYJ| EYED Ot dR2FA
650,000& 650
o 2NN 5 22 24| 6,500,000& 6,500
[ DRNE= 1,100
o HXIHIIZ +=HEH X 550,000 *x23] 1,100
02 3524l 226,150 226,150 0
OZ2322YLAHA 30,070,000& 30,070
OH =l 5,010,000& 5,010
OAl & &H KX Y| 9,000,000 9,000
O Xt 8| 182,070,000& 182,070
03 SHALZ L I 4,000 4,000 0
OHDSE M=t 4,000,000& 4,000
202 04| 3,690 4,061 N 371
01 =2LH O HI 3,690 4,061 N 371
OMEMY DX RFA 3,690,000 3,690
206 M = 8l 257,190 233,790 23,400
1 MZ 8l 257,190 233,790 23,400
OMYD| REEE M (HHS+2A4Z22) 124,100
o 52l 263 *50,0000H 1,300
o 102I & 38& *50,0000H 1,900
o 202 & 63 & *300,0000H 18,900
o 202IE(HAtEZE) 70& =400, 0000H 28,000
o 502l & 138& *500, 000 0H 69,000
o TR MaOIH HE 10& 500, 0000H 5,000
OS2 MY DI0HH MZE(EHE) 11,600
o 202 Ef 350& %20, 000 0H 7,000
o 502! & 4603 =10, 0000H 4,600
OMYIIREESE HH(B28) 21,550
o0 202 & 63& x50, 0000H 3,150
o 502! & 138& 100, 0000H 13,800
o Hg& 502 4603 =10, 0000H 4,600
OHDSY & =2 HAXNE 22 21,240




SN B
M Hols2el
Cel: MEHIsHel (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o SctAEY 6,000 x70H »20H 840
o && 6003 «70E 202 &l 128 10,080
o EYXESE B (ES)
20H*180,000& «12& 4,320
o EYXNESE E(ES)
20H*250,000& «12& 6,000
OHs2Y =0t M= 1,200& *8,0000H 9,600
O2Hset ZEAY =28 ¥
1,500,000 195 H = 28,500
OO0l AT =21 OCH X & 1,000& =8, 0000H 8,000
O0t0l AT e SSH =5 ME
63& 200, 0000H 12,600
ORSED| &X &AA 7 5,000,000 4K & 20,000
207 O] 100,000 0 100,000
01 289 100,000 0 100,000
OHJIE Melge o7 S (4E AL EH I
2) 100,000, 000& 14! 100,000
301 LEEAZ 33,000 33,000 0
12 JEEd=3 33,000 33,000 0
OEYESED & 428 AOX Z&3
3,000,000& 3,000
OHs2AEI =H243 30,000,000& 30,000
307 21201 A 1,624,000 1,624,000 0
05 RIZt2IEt = 1,624,000 1,624,000 0
O2Y Mo Meld grd=2IF HII=E HMel
260,000 *4,200& 1,092,000
O=sZ 428 X401 Hel
260,000& x1,200& 312,000
OM2Z XS =AM Il M2l 220,000,000 220,000
308 A EHHSOIA 222,503 222,503 0
07 IXNHMAR S = 156,008 156,008 0
OMNEHIIE Mz FES 156,008
o &AM D BES
10,000,000kg*1.023%10& 102,300
o &M eDl 2E=
3,500,000kg*1.023*15& 53,708
12 JIEtRE3 66,495 66,495 0
OMYEEIIE HE RfEa3(A2)
6,500,000kg*1.023*10& 66,495
405 XHoHF S HI 371,000 223,800 147,200
01 AL EZFH S 371,000 223,800 147,200
OEAXE +2 291,000
o BZHM =H Ma LEXNI(AF)
130,000, 0003 = 1CH 130,000
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SH 230
M HOI2He
Cel: MEHIsHel (cho &)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
07.58 EFXYUI =H FAINE(AR)
161,000, 0002 = 1CH 161,000
oMY Dl REEI ZAl 014l CCTV & X
4,000,000& *20CH 80,000
HEE ALY 392,377 552,417 A 160,040
101 14 dl 96,800 125,840 229,040
04 JIZHHZ2Z2XNESE S+ 96,800 125,840 A 29,040
ONES HdE ARAS 96,800
0 &AIQIS 100,000& »4H 22 x 1101 & 96,800
201 Let24d] 82,977 82,977 0
01 At 22l 20,131 20,131 0
OB =+=EH| 19,351
oMEE M8 23 FLF&  1,309,000& 1,309
oTHEE HEH FHEY +42
186,250& 128 2,235
o M= d8H M)|etdze HEH=
4172308 *122 5,007
oMEE HEH HYHE SF 242
530,000& *23] 1,060
o MHEE HdEE HAIE FIIHETA ==
=3 930, 000& *23] 1,860
oMEE HdEY Aotz HHZH
4,000,000& 4,000
o HZ2U HIIZEAM =2 530,000& x13] 530
o SAS MYJ EE2SE E HEE Xed|
Ot ALE B2 dE & 1,490,000 1,490
o 4TINS 218 HMZ 186,000 104 1,860
O2gx¢ 780
o RMEE EAM = 780,000& 780
02 2324l 62,846 62,846 0
OZ=2=aZ A A 35,260,000 35,260
OA =l 9,210,000& 9,210
OAEEHl S Xl 12,530,000& 12,530
O Xt & B 5,846,000 5,846
206 M= Hl 24,600 24,600 0
01 =8l 24,600 24,600 0
ONE8 HdEH 23 Mg + 15,600
OTHES HET FHBY ASUE
4,000,000& 4,000
o FolEE =W 2,200,000& 2,200
o HEHE EW 1,200,000& 1,200
o DEEZL 1,200,000 1,200
o OtA3 1,000, 000& 1,000




SN 2B
M Hols2el
Cel: MEHIsHel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o MEEg dZetel FE2&)| EEsS
2,000,000% =14 2,000
o AEJIN ¥ ANELEH FSF
50,000& 40 2,000
0 AEIIN L AETH P2~
50,000& x10= 500
o BYI 2 wE 500,000& 500
o JIARSE ¥ A& & F#Y 1,000, 000& 1,000
OMEaEg dE8F AJIEZH SEHONH ¢
300,000& *4J4 13| 1,200
OAJEZ2H HAY 2L 300, 000 »2JH4 600
OAJIEZH & 7Y 200,000& =44 800
ONgs dEg&ay o2 Madl (2,0t23)
4,600,000 4,600
OHEZ2E & AHX =HE  180,000& 104 1,800
307 i+l & 88,000 110,000 A22,000
05 RIZtE = 88,000 110,000 A 22,000
OHII7R8 S HWEHIIZS Mel
220,000 400 88,000
401 A& HIZ 201 Y] 100,000 170,000 A70,000
01 A& HI 100,000 170,000 AT70,000
OLHD] 2 WX 30,000,000& =121 30,000
OLt#Il == WH 20,000,000& =121 20,000
OANMEE B3 A 10,000, 000& 10,000
ONES dg8X dgetel (M0 S)E+
20,000,000& »24! 40,000
YSHUY 2HBH2 IR (2X) 170,000 170,000 0
= 17,000
< 17,000
Al 136,000
301 LPEAZ 170,000 170,000 0
= 17,000
< 17,000
Al 136,000
12 JE24 3 170,000 170,000 0
OZsHblE =124 A&  170,000,000& 170,000
= 17,000
< 17,000
Al 136,000
SIMOI P MY I HSIAIE (EX) 132,857 128,571 4,286
= 93,000
< 13,286
Al 26,571
101 @124l 110,857 104,571 6,286
= 77,600
= 11,086




2N
X ZH -
L= B

el

=
s

H

AH

TR

ot
szel

HII=Xel

= A

CHE - EI(BA) - NRAY - BYS

&

Off &t 24

=

i
2m

22,171

04 DIt 22 XS+
Oot2 48 I+ XMelAe

110,857,000&

= W

110,857

110,857
77,600
11,086
22,171

104,

571

6,286

201 2Bt2

=z N H

3,000
2,100
300
600

,000

01 At 2t el

H
ciol=H HMelAtg

3,000, 000&

= N W

3,000
3,000

3,000

2,100
300
600

,000

202 o4 Hl

=z N W

2,000
1,400
200
400

,000

01 2O HI
Oot224¢gJ1+=1 XelAe

2,000,000

= M W

2,000
2,000

1,400
200
400

,000

307 21201 &

= M W

17,000
11,900
1,700
3,400

,000

A2,000

05 212+9| 2

17.,000,000&

= W

17,000
17,000

11,900
1,700
3,400

,000

A 2,000

W

Al

30,000

9,000
21,000

25,

000

5,000

401 AIEBIZ S CHYI

W

Al

30,000

9,000
21,000

25,

000

5,000

01 Al&HI
OS=sHtdle

Ok
O
b}
Qi
2
o

A& A
,000,000& *6H 2~

H

Al

30,000

30,000

9,000
21,000

25,

000

5,000

MEHIIS HEWHSAE EX AE(

Bx)

H

75,000
22,500

60,

000

15,000




2M: 33
=R BB
Ce: MEHI2Xel (2 &HH)
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 52,500
401 AlEHIZL £ 0HY| 75,000 60,000 15,000
= 22,500
Al 52,500
01 Al&EH| 75,000 60,000 15,000
OMETHIIE HE BHEANE &X X
25,000,000 *304 &~ 75,000
= 22,500
Al 52,500
HEE 20} HIIS HMel N (EX) 224,000 210,000 14,000
& 67,200
Al 156,800
307 2Iz2to| & 224,000 210,000 14,000
== 67,200
Al 156,800
05 QIZ2tR EF 2 224,000 210,000 14,000
Og=sHAM =4 & 852 NS
224,000,000& 224,000
& 67,200
Al 156,800
MEE s40tY X KN A (EX) 90,000 90,000 0
2 45,000
Al 45,000
401 Al HIZL 2 0HY| 90,000 90,000 0
2 45,000
Al 45,000
01 Al&H| 90,000 90,000 0
oONEg suote &X 90,000,000 90,000
= 45,000
Al 45,000
sordly AD{8AH NAAMS(BX) 31,632 36,306 N4 674
& 9,490
Al 22,142
301 et A =2 31,632 36,306 N4 674
& 9,490
Al 22,142
12 JIEtE A= 31,632 36,306 N4 674
OH=s2E)18% =HOHLH XI& 31,632,000& 31,632
== 9,490
Al 22,142
MY EYEI AN ALHEFOURN)(EX) 200,000 110,000 90,000
= 200,000
401 Al HI L E0HHI 20,000 0 20,000
= 20,000
01 Al & H| 20,000 0 20,000




SN B
M Hols2el
Cel: MEHIsHel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLES SZ02 20 2el=HE 4X
20,000,000& 20,000
< 20,000
405 XHoHF S HI 180,000 110,000 70,000
< 180,000
01 et ESFH S 180,000 110,000 70,000
OMYDIIEYHEI 2Al 0S4 CCTV 7€
4,000,000 *450H 2~ 180,000
= 180,000
Heass =80 28 2 nassg NA(BEX) 12,442 6,238 6,204
< 3,733
Al 8,709
201 £B-2%H| 12,442 6,238 6,204
< 3,733
Al 8,709
01 At 22l 12,442 6,238 6,204
O2E==EH| 12,442
o ME&Es8 = weg=s N&
12,000, 000& 12,000
< 3,600
Al 8,400
oMEES =80 HMEEE XNF 442,000& 442
< 133
Al 309
WEEE ZRHL NAY(E2X) 109, 140 0 109, 140
= 39,570
Al 69,570
101 @124l 101,140 0 101,140
= 36,570
Al 64,570
04 JIZHHZ2XNSE =+ 101,140 0 101,140
OHEES SEME XA 101,140,000& 101,140
= 36,570
Al 64,570
206 T2 Hl 8,000 0 8,000
2 3,000
Al 5,000
01 =4l 8,000 0 8,000
OMeEE SENE HGgES 7¢
8,000,000& 8,000
= 3,000
Al 5,000
WEEE BHHH NAAML (M2 S20)(2F) 355,680 0 355,680
< 106,704
Al 248,976
101 144 Hl 337,896 0 337,896




SH 230
M HOI2He
Cel: MEHIsHel (cho &)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 707,369
Al 236,527
4 D12t Z2 RS2+ 337,896 0 337,896
ONEEE Z2zE =<0 337,896,000 337,896
= 101,369
Al 236,527
206 = Hl 17,784 0 17,784
= 5,335
Al 12,449
01 =8l 17,784 0 17,784
ONMEES ZelE M= 7L 17,784,000 17,784
= 5,335
Al 12,449
s30lstd 222 170,880 0 170,880
201 LB-2d| 170,880 0 170,880
01 At 22l 170,880 0 170,880
OBt~ 42,000
0 BANIGHY 2= Ty
,000& 1004 x70H » 122 42,000
o=t 96,400
0 SASBHIIS £ 4= A
50,0003 x12& +23| 1,200
o EZ0IstA HE= 150,000& 70K »23| 21,000
o &Z0Istd At 60,0003 70 #23| 8,400
o EZ0IstA 0OF2t =) 40,0003 *x70Y *23] 5,600
o A0SR L&= 400,000& 70 13| 28,000
o EZ0IstA Yetst 200,000& x70E 13| 14,000
o &0IsA =9 70,000& x70H *13] 4,900
o &A0Istd €3 X 50,000& 70 13| 3,500
o #Z0Ig 2=4 250 +
70,0003 *70H x15] %28 9,800
O= &l 32,480
o &&0Istd E2X =&l
8,000& x70H 582! 32,480
SMNEXCE 29 1,831,028 1,959,491 A 128,463
201 LBt 303,268 317,351 A 14,083
01 At 22l 29,793 26,891 2,902
OB =+=EH| 23,370
o 842 HMelAld RFZH 650,000& 650
0 BA2 HUNE R0AYIEY 222
170,000 1200 & 2,040
o0 SAZE XMelAE MI|otd el &
10,000, 000& 10,000




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
0 SAE2 HMoANE 228 FL(FEX, A
a8 S) 300,000& 300
o0 SAS HM2AE HEIEE ==2
800,000& x13] 800
o SA2 HMelAld HZU FIIZAM
935,000& 935
o SAZ2 HMaAME FIBA =8
2,370,000 x13] 2,370
0 SAS EHHHE U HES L2TAN £+
= 570,000& x13] 570
0 SAZ HUNE HABASE 248
600,000& *23| 1,200
0 SAE HEANE LB} 222
2,500,000& 2,500
o SAS HM2AE EIIELH FIIZA
1,200,000 1,200
o0 BA2 HMelAld SO0IAE HEH A
805,000& x13] 805
o1 =tl 780
0 SAZ HRAL 22X He= U AFEF
260,000 »3H 780
O=&l 1,728
0 SAE WEEAL =7
8,000 «3& 62«12 & 1,728
[ DN = 3,915
0 SAE MelA& 4O dEs
142,840 128 1,715
o SASHclAI4 Xot2H & FEE &L
SN, 2,200,000 x13] 2,200
02 =224l 273,475 290,460 A 16,985
OZZ23LHA 249,735
oaxERS 14,295,000 14,295
o dIIRI 235,440,000 235,440
OA=H| 9,340,000 9,340
OAEZHI S X 1,200,000 =120 & 14,400
206 M= Hl 101,760 101,760 0
01 MHZ 4l 101,760 101,760 0
0S42 HeNE Yo, AS%E 2
10,000 x202| E x30S 6,000
OSAER HII= &8 s8¢ ¢
75,0003 x3E *300 67,500
O34 E NASANE 2235 ¢ 18,060
o MIIXI 72 100,000& »10& *33l 3,000
o ¥ *¢ 6002 x6H 25 x 1204 & 1,080
o #ga= A 6,000 *6ZH 104 = 1204 & 4,320
o OtA=a 2 1,200 3 «6H «2501 x 1201 & 2,160
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SN B
M Hols2el
DAMEmHII 2l cet )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o EZHLE ¢ 20,000& 2001 x53] 2,000
o JIHESE 2¢ ¥ FilA 7Y
150,000& *30& 4,500
o MEE (MM S) 1,000,000& 1,000
OSAE MelAlE AR €5 H 7
50,000& *17kg* 1271 & 10,200
207 51 OH £ Hl 210,000 210,000 0
03 Al & 11HI 210,000 210,000 0
OSAE HolANM BE+HE AEY
10,000, 000& 210,000
307 21201 A 348,000 318,000 30,000
05 BIZHRI & 3 348,000 318,000 30,000
OSA2E HII2 A% (ASHE)
67,500,000 67,500
DEREES BIERETEIE )
76,500,000 76,500
OSAER HIIZ2 =X HMeldl
180,000, 000& 180,000
O s AL (M L EI HIIE)
300,000& 80 24,000
401 AIEHI L 2] 835,000 983,380 A 148,380
01 A& Hl 830,000 983, 380 A 153,380
OSASHE SHRYI L 225F Nz
At 190,000, 000& 190,000
OSASXHeld EFEH HLSA
300,000, 000& 300,000
OSAEXHE WAEZSA 190,000, 000& 190,000
OSASHelE 2HO0I ¥ RHEH HESA
150,000, 000& 150,000
03 Al SR THHI 5,000 0 5,000
OSAaSxHeE NE=UY 5,000,000& 5,000
405 TtHabF S| 33,000 29,000 4,000
01 AL EFH S 33,000 29,000 4,000
g8l 0158 SESA 7Y
10,000, 000& »2CH 20,000
OIMIl 2H 2L (LA) 8,000,000 = 1CH 8,000
OSH= O/SEZ(LAH) 2,500,000 *2CH 5,000
& (A2E) 2 908,587 1,038,728 A 130,141
201 L4l 16,587 13,728 2,859
01 At 22l 10,387 7,655 2,732
OB ==EH| 5,387
oANBEZ HEAME A2
673,300 *20H 2 x4 3] 5,387
ogxz 5,000




2N

X ZH
S =

el

mwg o

s
szel

HII=Xel

© W

AH
(=

- RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
oOANEEE AL B&4LHHel Xt
5,000,000& 5,000
02 2224 4| 6,200 6,073 127
OZ2Z222Y A 2,500,000 2,500
OAl & & H KX Y| 3,700,000& 3,700
207 A F 0 £ 67,000 0 67,000
01 s 67,000 0 67,000
OANESZMWEE AIZ2e FTHEHASITA
=29 67,000,000 67,000
308 XAHXIEHSOIA 800,000 1,000,000 A 200,000
07 NIXSHHM2AREESSZ2 800,000 1,000,000 A 200,000
OZAMYD| WYY L 22T 2HLLYS
800,000,000& 800,000
401 A& HI L 204 HI 25,000 25,000 0
1 Al&H| 25,000 25,000 0
ONEZSE HEH 254 X L o2 s
5,000,000& 5,000
OSMANEBER WYE 2222 (AAAH)
20,000,000& = 14! 20,000
METIR 3l SHMEH AXAIS(EX) 278,000 0 278,000
= 83,000
Al 195,000
401 Al HI L £ 0HHI 278,000 0 278,000
= 83,000
Al 195,000
01 A& H| 278,000 0 278,000
OMETAA3=HE JI2 L AAEN
278,000,000 278,000
= 83,000
Al 195,000
AE & H DI = 22l 2,260,457 2,362,701 AN 102,244
= 920,468
& 74,824
Al 1,265,165
HOISAIE & 22l 107,381 107,681 A 300
201 et Y| 21,981 21,981 0
01 AP 2t 2] H| 16,865 16,865 0
OBt 2Y| 6,365
o HJI2 AEZA 22 YR=& 1,530,000 1,530
o HJIZ2 EZ A+ 2,000,000 2,000
o HIIZ2 &AL 2FZA 30,5002 103 305
o HJIIZ 22EgY AIRES 7
1,530,000 1,530




2N
X ZH -
L= B

el

2t
FH DI 2 2kl

- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol &F o4 %Ei 2t
EEEFEEREEEEL
1,000, 0008 1,000
O1 =] 900
o HJII2 HMeldd Ss=(Ast9) ¢l
900,000& 900
[ PE=2=d] 1,570
WIS PH SIHE AREX
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